



**Vendor Ranking** 

Page 1 of 1

Letting:03250109January 09, 2025 11:00 AMCall Order: 005Contract: E3Y51District:District 3Counties: DIST/ST-WIDE, WALTONFed Aid No: N/A

**Contract Time**: 12/31/25 COMPLETION DATE **Project(s)**: 42214337255 (\*)

Contract Desc: PONCE DE LEON OPS - RUBBLE PLACEMENT MAINTENANCE

Ran	k <b>V</b> endor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	COLLINS LAND SERVICES, INC	Responsive	Winning bid	\$392,500.00	100.00%
2	SUPREME ROOFING & CONSTRUCTION, INC.	Responsive	Non-Winning Bid	\$500,700.00	127.57%
3	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Non-Winning Bid	\$505,611.00	128.82%
4	EXTREME LAND RESTORATION	Responsive	Non-Winning Bid	\$517,451.80	131.83%
5	MIDWESTERN CONSTRUCTION, INC	Responsive	Non-Winning Bid	\$583,350.00	148.62%
6	CONTRACT SERVICE SOLUTIONS, LLC	Responsive	Non-Winning Bid	\$584,520.80	148.92%
7	C.W. ROBERTS CONTRACTING, INC.	Responsive	Non-Winning Bid	\$609,910.00	155.39%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





#### **Tabulation of Bids**

Page 1 of 7

Letting:03250109January 09, 2025Call Order:005Contract:E3Y51District:District 3Counties:DIST/ST-WIDE, WALTONFed Aid No: N/A

Contract Time: 12/31/25 COMPLETION DATE Project(s): 42214337255 (\*)

Contract Descr: PONCE DE LEON OPS - RUBBLE PLACEMENT MAINTENANCE

The improvements under this Work Document-Driven Contract consist of the placement of Bank and Shore Rubble as well as Ditch Lining Rubble along various roadways in Walton County. This rubble will be used to fill, re-contour and restore eroded slope and ditch bottoms. Periodic lane closures will be required. Removal and replacement of guardrail may be necessary to accomplish dumping and spreading of rubble. All guardrail to be replaced at the end of each workday. Mobilization, Maintenance of Traffic, and removal & replacement of guardrail shall be incidental to the pay items listed.

This Contract has a budgetary estimate of \$700,000.00.

The quantities shown on the Bid Price Proposal are approximate and only represent estimated planned requirements based on historical or specific project needs. The Department does not guarantee any maximum or minimum quantity, any range of quantities, or the exact quantities shown for each bid item. The Department estimated quantities and the Contractors bid price will be used to calculate a total bid amount. This total bid amount will then be used to determine the low bidder, however, actual payment under the awarded contract will be based on actual quantities completed. For this Contract in which specific sites are not identified at the time of letting, the Engineer will issue a Work Document. Work Documents will identify the location, description, amount of work to be accomplished, and the number of calendar days to complete the work.

Line No / Item ID Alterna	ate Quantity Units	(1) COLLINS LA		(2) SUPREME CONSTRUC		CONSULTING	ANAGEMENT & G OF FLORIDA
() indicates item is bid as Lump Sur	п	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	LC Ext Amount
SECTION: 0001	(ASPHALT RE	PAIR (MECHANIC	AL) (TN				
0005 0104 10 3 SEDIMENT BARRIER	100.000 LF	5.00000	500.00	5.00000	500.00	0.01000	1.00
0010 0104 11 FLOATING TURBIDITY BARRIER	100.000 LF	25.00000	2,500.00	10.00000	1,000.00	8.00000	800.00
0015 0120 2 2 BORROW EXCAVATION, TRUCK MEASURE	20.000 CY	50.00000	1,000.00	60.00000	1,200.00	24.00000	480.00
0020 0339 1 MISCELLANEOUS ASPHALT PAV	4.000 EMENT TN	500.00000	2,000.00	200.00000	800.00	50.00000	200.00





# **Tabulation of Bids**

Page 2 of 7

Lettin	<b>ig:</b> 0	3250109 Ja	nuary 09, 20	)25 <b>Ca</b> l	ll Order: 005		Contract:	E3Y51	
	e No / Item ID	Alternate	Quantity Units	(1) COLLINS LA		(2) SUPREME CONSTRUC		(3) ROGAR MA CONSULTING	OF FLORIDA
	dicates item is b	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	_C Ext Amount
	SECTION:	0001 (	ASPHALT RE	PAIR (MECHANIC	AL) (TN				
0025 RIPRAI	0530 3 3 P- RUBBLE, B/	ANK AND SHORE	3,000.000 TN	125.00000	375,000.00	160.00000	480,000.00	165.00000	495,000.00
0030 RIPRAI	0530 3 4 P, RUBBLE, F&	&I, DITCH LINING	20.000 TN	150.00000	3,000.00	160.00000	3,200.00	191.00000	3,820.00
0035 BEDDII	0530 74 NG STONE		20.000 TN	150.00000	3,000.00	150.00000	3,000.00	168.00000	3,360.00
0040 CLEAN	E120 10 2 I AND RESHAF	PE DITCH (HAUL	50.000 .) LF	50.00000	2,500.00	100.00000	5,000.00	21.00000	1,050.00
0045 SODDI	E575 1 NG		150.000 SY	10.00000	1,500.00	10.00000	1,500.00	4.00000	600.00
0050 SHOUL	E577 70 LDER REWOR	K	150.000 SY	10.00000	1,500.00	30.00000	4,500.00	2.00000	300.00
		ALT REPAIR Sec NICAL) (TN)	tion Totals:		\$392,500.00 <sup>°</sup>		\$500,700.00		\$505,611.00
		Contract Gra	nd Totals:		\$392,500.00		\$500,700.00		505,611.00





# **Tabulation of Bids**

Page 3 of 7

Letting	<b>g:</b> 03	3250109	January 09, 20	25 <b>Ca</b>	II Order: 005		Contract:	E3Y51	
	No / Item ID Description	Alternate	Quantity Units	(4) EXTRE RESTOR		(5) MIDW CONSTRUC			CT SERVICE DNS, LLC
	dicates item is bid	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(ASPHALT REI	PAIR (MECHANIC	AL) (TN				
0005 SEDIME	0104 10 3 ENT BARRIER		100.000 LF	7.42000	742.00	5.00000	500.00	5.00000	500.00
0010 FLOATI	0104 11 NG TURBIDIT	Y BARRIER	100.000 LF	30.19000	3,019.00	30.00000	3,000.00	12.00000	1,200.00
0015 BORRC MEASU	0120 2 2 DW EXCAVATION IRE	ON, TRUCK	20.000 CY	128.35000	2,567.00	65.00000	1,300.00	90.00000	1,800.00
0020 MISCEL	0339 1 LLANEOUS AS	PHALT PAVEN	4.000 MENT TN	1,183.05000	4,732.20	2,500.00000	10,000.00	600.00000	2,400.00
0025 RIPRAF	0530 3 3 P- RUBBLE, BA	NK AND SHO	3,000.000 RE TN	164.34000	493,020.00	185.00000	555,000.00	190.00000	570,000.00
0030 RIPRAF	0530 3 4 P, RUBBLE, F&	I, DITCH LININ	20.000 IG TN	190.79000	3,815.80	200.00000	4,000.00	195.00000	3,900.00
0035 BEDDIN	0530 74 NG STONE		20.000 TN	190.79000	3,815.80	190.00000	3,800.00	154.79000	3,095.80
0040 CLEAN	E120 10 2 AND RESHAP	E DITCH (HAU	50.000 JL) LF	72.20000	3,610.00	10.00000	500.00	5.50000	275.00
0045 SODDIN	E575 1 NG		150.000 SY	6.64000	996.00	25.00000	3,750.00	6.00000	900.00





# **Tabulation of Bids**

Page 4 of 7

Letting	: 03250109	January 09, 20	25 <b>Ca</b>	II Order: 005		Contract:	E3Y51	
Line No / Item ID Alternate Quantity Item Description Units			(4) EXTRE RESTOR		(5) MIDWESTERN (6) CONTRACT CONSTRUCTION, INC SOLUTION			
() indic	icates item is bid as Lump Su	m	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	(ASPHALT RE	PAIR (MECHANIC	AL) (TN				
	E577 70 DER REWORK	150,000 SY	7.56000	1,134.00	10.00000	1,500.00	3.00000	450.00
	0001 ASPHALT REPAIR (MECHANICAL) (TN)			\$517,451.80 <sup>°</sup>		\$583,350.00		\$584,520.80
	Contract	Grand Totals:		\$517,451.80		\$583,350.00		584,520.80





# **Tabulation of Bids**

Page 5 of 7

Letting:	03250109	January 09, 20	25 <b>Cal</b>	l Order: 005		Contract:	E3Y51	
Line No Item Des		e Quantity Units	(7) C.W. R CONTRACT					
	es item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SI	ECTION: 0001	(ASPHALT REI	PAIR (MECHANIC	AL) (TN				
0005 010 SEDIMENT	04 10 3 BARRIER	100.000 LF	12.00000	1,200.00				
	04 11 TURBIDITY BARRIER	100.000 LF	21.00000	2,100.00				
	20 2 2 EXCAVATION, TRUCK	20.000 CY	78.00000	1,560.00				
	39 1 NEOUS ASPHALT PAVE	4.000 MENT TN	500.00000	2,000.00				
	30 3 3 JBBLE, BANK AND SHC	3,000.000 DRE TN	195.00000	585,000.00				
	30 3 4 JBBLE, F&I, DITCH LINII	20.000 NG TN	320.00000	6,400.00				
0035 053 BEDDING S	30 74 STONE	20.000 TN	320.00000	6,400.00				
	20 10 2 D RESHAPE DITCH (HA	50.000 LF	27.00000	1,350.00				
0045 E5 SODDING	75 1	150.000 SY	15.00000	2,250.00				





## **Tabulation of Bids**

Page 6 of 7

Letting	<b>g:</b> 0:	3250109 ,	January 09, 20	25 <b>Ca</b>	Il Order: 005		Contract:	E3Y51	
	No / Item ID Description	Alternate	Quantity Units	(7) C.W. R CONTRAC					
( ) inc	dicates item is bi	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001 (ASPHALT REPAIR (MECHANICAL) (TN								
0050	E577 70		150.000	11.00000	1,650.00				
SHOUL	DER REWORI	K	SY						
		ALT REPAIR SE	ection Totals:		\$609,910.00				

**Contract Grand Totals:** 

\$609,910.00



01/27/2025

#### **Tabulation of Bids**

Page 7 of 7

Letting: 03250109 January 09, 2025

Call Order: 005

Contract: E3Y51

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.